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To find angle between vectors

1) Find magnitudes of vectors

lal =\(13)=/13

[l
I
(O8]

a

b= 4 Ib] =V(25)=5

2) Find dot product of vectors

a- b=(-3)(4)+(2)(-3)="18
ab

lal- |2

SO0 cos 0 has ratios

3) Apply cos (6')=

18- 13

—18/(V13V25)=-18 (V325 )————

65
4) Use inverse cos to find 0
6=cos™ (18 /(\325))=176.82 °

3-29-17 ES dot product and angle between -3 2.tns

20f6



Problem 2

Py B C D 13.45 [y

1 vector_a |dx_1 -3 }[

2 dy_1 2

3

4 vector_c |dx_2 3 W

5 dy_2 4.5 g /e .
: b0 T 10
/ scalar_1 1

8 scalar_2 -2

o M

10

11

< E— | |

Evector_a -13.45 l[

3-29-17 ES dot product and angle between -3 2.tns 30of6



To find angle between vectors
1) Find magnitudes of vectors
a= 3| |a|=V(13)={13
| 2

3 ] Ic| =V(29.25 )=5.40833
4.5

2) Find dot product of vectors
a- c=(-3)(3)+(2)(4.5)=0.
ab
lal-[2]
so cos 0 has ratios
=0. /(V13+29.25 )=0. /(' 380.25 )=0.

@]
|

3) Apply cos (6')=

4) Use inverse cos to find 6
6=cos™ (0. /(N 380.25 ))=90. °
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To find angle between vectors

1) Find magnitudes of vectors

b= 4] Ib| =V(25)=5
3

c= 3] Ic| =V(29.25 )=5.40833
4.5

2) Find dot product of vectors

a- b=(4)(3)+(3)4.5)="1.5
ab

lal-[2]

so cos 0 has ratios

=1.5/(V2529.25)="1.5/(N731.25 )=
-0.05547

3) Apply cos (6')=

4) Use inverse cos to find 6
6=cos™ (-1.5 /(N731.25 ))=93.1798 °
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